
���������
	��
���������
�
�������������! 
"!#����

$&%('*)+'-,/.1032 '*,�4 57698�2�'-: 2;8=<>8�?�4�@/.16BAC?D, AE,
FHG/IKJ L 	 : ANM�6B@�8�2O5

PRQ1S ��T�U
��U�TWVYX Q[Z Q T� 
\^]`_a��bdcBUeU
��\fVBg Q X>U��ihj 
\Bck� QlS bd�Bmon+#
p gEq ��rts]�uwvx���y��c9 
u

z �Bb|{=}�V 	����7�

] � v
���! 
"~�
�Y�
�x�[�x�����~���x�����N���N�C�x�������x�-�O�C�o�x���-�����[�o���������N�����
���x�C���
�N�����N�y���o�C�>�[�>�N�~�N����������N�~�N�C���x� �Y�¢¡x£;¤1¥Y¦+§�¡
¨
§�©�ª
§�¡
ª
§«�x���¬¨
§�¡x¦+§�­®�x�e�f�¯���y�¢�N�o�°���x�±�y�o�°���x�°�o�N�
�x��x�����N�°�~���¢�i�[�����C�y�N�o�|²x³�´d���N�~�i�������N�~�N�C�¶µY�o�N��ª
§�­·�x�������x�N�9£;¤ ¥ �N�C�o�~¸!�~�C�y�����[��������N�C�x�������1�
�N�W�x¹y�������x�C�D���~�����~�«�[�N���x���[�
�N�[�°�¬µY�[�N�t��º~�Eªxª��N�°�~���¢�f�
�9�x�~���~�WµY�o����N���[�N»��~�C�N�9�x�7¼xª½³¿¾xÀ Á�³



� �������	��

�����������

´d���N�~�;���C�������[���x���~�C�N�o�°�t�����±�x���9�x��������¹D�¯�x�1�N���f�°�~�����a�����x�N»x���
��� ���[�9µ��x�����N�"!
�±�°�N�C� ���(�y�����*�°�x�;�������N�~�N���¢�°���N�x�[�y�[�~�t�Y�E© £�¤1¥«�x�y��£�#�$
³�£�#%$�µi�x�f�x���~�C����¬���
»x�W�N�~�f�~���o� ���N�[���W�x�9�����x�[���x�&���°�N�N�o¹��o�x³
�w���[���x�~�+�x�!�N�
�x�W�x�
�N�~��£�#%$Oµ��x��N���
�i�N�~�('y�~�x�iµY�~�C�*� �����C�t�[�¬�N���O�E�+�x���x�����~�f�¢�°�y�[�¬���N���t�N�~�OµY�o���C� �x���-���x�C�t�o����N�~�C� ¹y�N�C�
»�³�) �C���x�y�����N�~�*'y���x�1�[�Y�C�o�C�¢���N�°�~���°�
�N�o�x���o�a���C²�¹y�[���t�¯�N�����C�o�C�¢���N�°����x�����°�[�x�«�~���°�
�N�[�x���[�°���1�y�[�[�~�N�[�����N�~���½����¹±���a�x�+���������
�N²(�C�o�C�¢���N�°���,�¿¼-��³�.9�~�C����~���°�
�N�o�x�f�o�°���i���x�(�¢�~�[�������x�C�D���~���[�~�/�O���C�
³eº��N�°�k�N�~�W�
�x�C�[�~�����C���N�B�~�°���a¹½²0�¿¨-��o�1µi�x�W�¢�°�����[�y�~�C�����t�o�C�E�x���°�~�f£�#%$«�x���K���t�������(�������N�~�N���x�214365x£�¤Y¥�¦+§�¡
¨
§­-³

.9�~���N���¯�x�N���N���[�¬�¬���½�N���N���[�*���N�����o�C�j�~���N���������x�N�K�~���N�x�[� ³87O�������x�*¹±���C��o�!�x»��[�~�(�
�f���N�
¹y���[�o�|²x© �9���x�¢�������
�N�x��� :��C�¢�N��© �����N�����
���x�����½�~�C�O�~�C�
�W�N���«¹y�N�C�
»6!�~�EµY� ©¶�[�[���[�N�1�x�;�����<�±�x���N�o�°���x�[�o� ²��x��� ���D¹y�N�C�
»½���EµY���x���N�~�¬�N�����CµY�;�[���D�N���x���
���N�x���x�|²=���*���������[�«�x����� �[�C�~�x�N� ³>.Y���[�W���������o��µi�x�f�N�~�/?������W�°�~�¬¹y���[�o�aµY�o�N��N�~�;�N�x���*�y�
�N�N�9�x�B�N���f�N�C�x� �°�~�C�C³

@ ���C�/�°�~�-�o�N���x�����
���C�f���������Cµ µ1�o�N�/���N�°�~���¢�x©��y���[��� !|���C�o�°���N�;�x���/���~�N���C���N����x�(¹±�1�N�C�¢�x���~�C� ³�º~�N�°�k�N�~���y���[�N� !|�~�C�o�°�!�N�e�°�~�W���x�(���x�[�������
���a�N���1�°�x�[�(�x���-�°�~����x������� �N�~���������~�N�N�C�y�¢�e�x���x�N�~�����y���[���7� ²A���C�¶�N���
���~�C���x���e�x�N�~�������[�N�����
�N�x��� ²A���C��³º~�N�°� �N�~�1���~���N�C���N� �x�e�;�¯���y�¢�N�o�°���x� �N�~�Y�y�o�°���x�°�o�N�
�x�O�°�~�Y���x�-�����a�9�y�x�¢�1�����
�N�x�� :±�C�¢�N���x��������:����N�C�!�7�N���°�o�°�����x�±�E�+�x�[�x�y���~�1�x�e�����N�C�x�����2���N�������¢�N�o�°� ³ @ �[�N��º~�Eªxª�x�;�t���°�~���¢���°�~�����x�3�N�N���~²��N����¹±�C�y�C���o�°�~�W�x���N�~���C�N���"���B���C�
»K�x�y���N�~�����x�[�
�±�C�
»±³´d�(�N�y�[�B���N���~²¬�N�~���y���[�N�C���
���f���C�x�N�~�N�C�(µ1�o�N�(��¹y�o���~²����x���[���x�±���x�~�x�x³DCY�x�9!���x�[�o²K���~�N�N�C�!�f�x�B�y�[�E?������1�x�;�����
���x�¬�x�B�y�[�E?������O�
�N�������C� �����������N�~���N�o�°�y�x�[�O�x��N�~�¬µY�[�N�C��³F�B�~�N�N�C�!�f�x�B�y�[�E?������W�x���/�����
�N�x�(�x�B�y�[�E?������W���E�x�*�D�x����²K���C�������[�¢���C��N���°�o�°���x�i�"���y�[�����
�N�o�°� �x���/�������x���x��´G!IH ���y�
���x�¢�������[���N������³
.9�~���N���¯�x�N��µ������~�½�°���� �x���N���D���C�x�N�~�N�C���C�����x�O� �x�°�o�N�
�x���E�x���*� ���C�N�[�����x�¬�x�¬���~�N�N�C�!�����C�x�N�~���C���C����x�;�¢�J�y�[�x�[���C���[���N�~�-�~�¢�½�����C�¢�N�o�°���x������� �����¬�t�x�°�[�N�
�x�-�x�B���[�K?����WµY�[�N�/�D¹y�[�¹y�x���~µY���~�N�(�x���D���o�°�t���L�y�~�i�[�B���C���x���¢�x³
M NPO�QSRTQ+��O���


º~�x�9�N�~�f���C�x���~�N�C���C�!�N�9�������EµY�iµ����N�f�����C�(µY�[�N�-�x�t�����~���B���[�x���������B�x�7ª½³ §x§�����x���(�U���x»
�x�o�°�(�������Eµ �x�D�WV
��� �[�y�~�����y�[�x���������C³�.9���a�������CµY�i�x��ª
���k���[�x����������
�N�W�N�~�f���N�x���y�
���(� �x�B�N���W�°�~�����9�����x��»x���Y�x�X������¹ ³+.9�~�W���[�x���������9�x�¶�N�~�f�x���½�~�µY�o�N�*µ��x��¼xª½³¿¾�À Á�³��a���������EµY�«�°�~�-�y�x�«�y���C�`�K�9���C���[�x� �N�~�x�N���������Eµ^�x�O¦D����o�C�~�x�N���¬�x�~�f�¯�N�°� �*�~�°�~¹y�o�W�[�E²x���1�x�7»
�"�����°�ZY��\[��¢�°�y�����¢�N�[�~��»
�"�����°�^]9�x������������Cµ®�x� ª
§-��� �o�C�~�x�N�K�[���>���N�"! ���-�|²=���«���½���y�o�f�x�4���t³�.9���[�1���������o�;�y�x�1�x�[�

�



Ampl

C

R1

R2
Straw

Measurement system

Scope

º��o�°���N�
�����e�[�C�¢���N�°���[�W�����N���
�N�~�f�����
���x�¢�������[���N�[���Y�x���N���a���C�x� ���������o�C��¹y�~�B�o�N�B�[�C�~�x�N�t�[�i�°���o²-�N���x�[�[���C³�´d�(�N�~��N�C�x�¶���������[�C�i�x���N�~�;�°�~�����Y�����x��»x���O�N�~�f�������EµY�Y�
�N�����x�~�f�x���N�~�N�����[�C²x�����;³D.9����[���~�����[�E²x���eµi�x��»
�"�����°�
Y��O©x�N�~�C�¬�x�������°�[�
�N�[�~�W�[�E²x���e�x��»
�"�����°�¬�x�����N���C�¬�O�N���[��[�C²x���1�x���a� �¯�°�[� ³

.9�~�U�y���[��� !|���C�o�°���N�9µ ���N�«���C�x�N�~���C��µY�[�N�D�¬�N�¢�<���«�¢�°���~�C�¢���C�K���¬�N�~���°�~�9�y�~��x�e���x�°�o�N�
�x���x�B���[�K?����9�x����§¬�N�[���C�1�x�B���[�K?y���
�N�o�°� ³;.Y���[�9�x�°�[�N�
�x���x�
�y�[�K?����Yµ��x��¢�°���~�C�¢���C�����[�a�1���"�y�x���[���x�����O�N�~� µ1�o�N�x³X.9�~�i�[�L�y�~�¶�x�y�N�~�i�x�B�y�[�E?����¶µi�x�7�o�½�x»½�[����
� �N�~�a���~�N�N�C�!�N���N���N�°�~�°���N���YµY�o���9�E�x���B�f���C�N�[���N�x���¢�����	�f¨x¨
§�
������C�
�N�N� ³ @ �o�N��N�~���+�x�[�����x���a¥��[�1�¢�J�±�����[���C�!���C�K�(�o�x�O¹y����?y�y�x�[�o²t�N�~�«�+�x���~���x��
����N�t�[�a�N�
»x�C��x�Y���x�½�½���°�~�x³e�w�x�°�o�N�
�x���x�B�y�[�E?����iµ��x�1�����C�t���¬�¬�
»x�;�N�~�f�~²����x�����O���x�~�x�;�x�¹y�o�(�x�����°�N���o¹y�o�;�x�y�����t���
»x���y�
���x�N�o�N�[�«���"�y�x���o�N�x���¢�C�;�x�a�����x�[�
�x�(�±�°���N�o¹y�o�x³1´d�
?��°�~�N�/�;�N�~�f�C�o�C�¢�����°���[�;�N���N�L���[�Y�N�~�Eµ1� ³ .Y�~�;�x�B�y���K?����Bµi�x�1�*�����
§L��§-�����K���x��1���x�[�x���a���½�[�¢�C�YµY�o�N�t�x�D���L�y�~�B�[�B���C���x�y�¢�a�x�7¨
§
»�
O³

.9�~�B�°�N�����[�o�°�N�¢�<����[l�L��ª+¾�ª
§°¼
� �x��¾°§x§��Z��
,]
µi�x���¢�°���~�C�¢���C�����W�N���9�¢�°�B�y�~��������/¹��-���C�x�~�°�~���¯�x���N�~���N�x�
�y�[�[�~�K�x�O���x��² �y�������C��³>º~�x���N���[�����~� ���°���t�����L)����´ ) ���������N�l�x�¢�tµi�x�������C��� ���°� �y�
�N�o�°���x�i�[�������������C�!�N��³�´ ��µi�x�����~�C��»x�C���N���
��N�~�f�C�o�C�¢���N�°�y�[���B���x�D���������O�N�[���W�x��§�³ ¼xª-HW¡+���1�°�t�N�~�W�°���9�y�~��³�.9���������C�x���B�N���
��f��µY�[���a�x�±�N�~�9���~���N�C���7�x� §�³ §�¦
ª;���O¡+�y�7�°���N�~�BµY�[�N�B�¢�°���[��¹��9�����C� ³�´ ���x�[�~���x���C��N�~�a�N�����CµY��µ����N�O�o�N���x�����
���C��µY�o�N�*��º��Eªxª«�x�����½���
§«���°�~���¢�x³�.Y�~�1���~���N�C���N���¢�°���[�¹±�9���C�x�N�~�N�C��µ1�o�N���f�9���C���[�x�~���x���f�x�B�����N�9��������� ���C�x�N�~���[���a�N���Y���~�N�N�C�!���[���N�~����o�°�D�x�°�[�N�
�x�«�[���~�x³&.9�~�������C���[�N�o�°�t�x�7�N�y�[�Y���������aµi�x�a§�³E�«���®�x�����N�~���~²����x��������x�~�x��µi�x�
��§x§D����³ º~�x�f�x�N�~���;���x�N�C�W�x�������N�N�C�!�O���C�x�N�~�N�C���C�!�N�f���W�C�[�N���o²D¾��xª
�y�[�¢�°�x�����������(µi�x�t�����C� �����y�C�x�/�`¹y�o�x�x���(�~²½�y�x���[���x�1���x�~�x�x³ )����*µY�[�N�j�N�~�
�W�C�o�N���o²`�°�~�����x�����`���C�x�N���N�t�N�~�����~���N�C���N��¹±��� µ ���C� �N�~�����
�N���½�~���x�����C�
�N�N�µY���[����µi�x�f��� �¬�����o�1���t�N�C�x�[�!
����¯�x�W�N�C�x�7���������o�C��³�.Y�~���W�C�o�N���o²�µ��x�O�°���[²������C�µY�o�N�(�N�~�;�N�����Cµ·�x�7¦���� �o�C�~�x�N�D�x���D�x�N�~���1�[�[���N�o�W�������Cµ·�~�����C�¢���x����³

¼



�Y�U[ ­/] £�¤Y¥B[ ­
]¦+§���¾ ¨
§���¼ª
§��P��� V ª
§�� ��� V¨
§��P��� � ¦+§��>¾
.
�
¹y�o�
���D.9�~�W�°�x�Y�¬���½�N���N�C�B�x���t�N�~�C�[�&���N�C���[�N�[�°���

.9�~�O�����C�F1�3 5x£�¤ ¥ �������N�~�N�C�B¦+§�¡
¨
§�© ª
§�¡
ª
§-�x���t¨
§�¡x¦+§¬­ µ����N�O�x¹��N�x�[���C�¬¹½²�����~�[�~���N�~�C� µY�[�N�0)��N�½�x»½�O���x����'y�Eµ ������������³�.9���*���N�C�����N�o�°�D�x�e�N�~�C���������������µ��x�9¼°­ �l���[�±�N���x�o�x³�C1�Eµ ���¬�N�
¹y�[� �a�N�~�W�½���;¹��������
�N�W�N�~��µY� ³�.9����'���µR�����������µ ���N�W�°�x���x�C�tµY�o�N�t�����°�"� 'y�EµR���������9�°��� ¡+�(�
�Y¼
§��~���x�N���C���i�C�[�N�[�����x��� �W�
�N��x�o� ���N�C���N�~�N�x³
� � Q����	� �
�

�
��� �����������������������! #"$��%��'&(���)���*�+�-,/.0�1%2���3 ��4�)&5�
6�798�798 :<;)= £�¤1¥?>(@ =(6 @BA
´d�>?��°�~�N�a¼W�N�~�O���~�N�N�C�!�e�[� ���C�x�N�~���C�*�x���;�l�����¢�N�[�°���x� ���o�°�¬�x�°�o�N�
�x�OµY�o�N�¬��º~�Eªxª���°�~���¢�¬�x�y�/� �½���
§����°�~���¢���¯�x�;�t���C�x�eº%!|���������o���¯�x���1� ¡x£;¤ ¥ ¦+§�¡
¨
§�­ ³>.9���
�½�f���
�N�t�[�E²K�����¢�C�o²D�°���N�~���¢�J���°�~�C���N���x�7�[�[�~�«¹y�~�O�N�~��º~�Eªxª �±�°�����N�O�N�~��µ �
¹��E�x�
�
³ V+»AH �O�~���½���
�N�o�°�«���O�[�Eµ����7�+�x�[���C��³�.Y���[�
�~���½���
�N�o�°�����x��¹��i���x�����C��¹½²f�N�~�B�«�����¹y�o�x�x��� �����[���
��²��[�°���!
C�
�N�o�°�*�~�C���N�o� ²��[���N�~�O���x���a�x�¶º~�Eªxª«�o�C�x�����~�f�������o��µ �����°�x�[��x�
�N���;���x�[� ���C�
»±³ �1¹��E�x�>�
³ �+»=H �N�~�;�y�
�N�-!I�±�°�����N�B�x�-�N���
� ���o²*�L�½µi�
��� ³�´ �t�N���[��N���°�o�°���°�~�B�[�
�N�C�x�����[�~�O¹��N�C�
»��~��µY�(³�.Y�~�i¹��N�C�
»��~�EµY�«�x�°�o�N�
�x�1�[���
� � �x¨
§"H�³��a�[����N�~�f���
�N»(���~�N�N�C�!�N�B�[���¢���C�x���W�
¹±���x�/�
³ �+»=H®���C�~�x�N�[�~���N�~���y�N�C�[���~�1�x��¹y�N�C�
»½���EµY� ³
.9�~�
�y�y�[���C�W�
�N�¬���~�EµY���~�D�DµY���[� ���������¢�N�~���¬���C�x���[���t�N���
�f�N�~���N�*�
�N�/�����½���y�¢�C����x��²��¢�C�!�������7�x���E�+�x���x�����~�C� �x�o�°�~�O�N�~�iµY�o���i���������¢�C��¹!²U�y�~�x���°�����¯�N�°� �������½�o�°�y��C�
�x�[�x�������C��³´d� ?y�°�~�N��¨-�N�~��� ���C¸!�~�C�y�¢²��[�W���C�x���~�N�C���x�W�(�l�����¢�N�o�°�K�x���N�~�����o�°�K�x�°�o�N�
�x�� �x�a�¬�������Eµw�[�N���x���[�
���C�(µ1�o�N�D�¬º��Eªxª¬���°�����¢�x³ ´ �D�N�y�[�&?��°�~���;�B�y�[�
���C�x���[�9���[�N�[¹y�o��¢�½���C���y�[�~���N�[�[�X�
³ ��»AH«³

.¶�-���N���~²t�9���x�¢�����y�
�N�x�;� :��C�¢�N�O���~�N�N�C�!�N�Y�
�N�����C�x�N�~�N�C���
�Y�N�~�������[�!���C���N�o�N�[�C�µY�o�N��� �½���
§;�N�°�~���¢�x³�´d�/?��°�~�N�Y¾;�N�~�Y�����N�N�C�!�N�4C�D+©EC � �FC�DW5
¨G�¿¾«�x�y�HC|¥ �FCID 5
¼
§��
�N�
�y�o�x�����C� ³B.9�~���[�Eµ����;�[�!���C���N�o� ²����~�N���C���N�f�
�����N���x�o�C�����t�N�~�?C�D����
�N�D�
�f���~�N���C���N��N���x�[�o���W�N�y�x� ��§x§D����³�C �fµi�x�f�N�C�N���x�[�C��¹����|µ����C� �
³ ¼t�x��� �
³¿¾�ªD»AHk�x���JC ¥�µ��x��N�C�N���x�o�C��¹±��� µ ���C� �
³ ¨xª��x��� �
³ ªxª�»=H�³¿´d�Y�[�B�����C���N���
�9�N�~�$C D ���°�[���N�B�
���f�x�°�[�~������o�Eµ����9�
�x�[�~�C�i�
¹��E�x�
�
³ Vxª�»=H�³5CIK���� �N���a�
�x�[�~�a�x�¶�N���f���~�N�N�C�!�D?y�����C�t�N�~�N�°�~�°�-�N�~�
C ¥ ���°�[�!�N��³�´ �>?y�°�~�N�aª��N�~�a���
�N�o�°�i�x� [MLONLOPRQ � ]S�E��§x§�­k�
�N�(�y�[�x�����C�-�x�i�«�l�����¢�N�o�°�*�x�

¨



kV
1.5 1.55 1.6 1.65 1.7 1.75 1.8 1.85

I n
A

10
-2

10
-1

1

10

10
2

 70/30 % F-module2Ar/CO
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Dark current

=-8.153β=6.745 α 
 β.V + αfor fit of e
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Fe55 data high int
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 β.V + αfor fit of e

Fe55 data low int
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 β.V + αfor fit of e
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 70/30,50/50 and 30/70 % straw of 50 cm Fe55 as source2Ar/CO

=-11.444β=7.934 α70/30 

=-8.844β=6.384 α50/50 

=-7.198β=5.486 α30/70 

=-46.956β=27.211 α50/50 

=-30.817β=18.472 α30/70 

=-8.640β=6.878 α30/70 
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 70/30% pokalon straw ionization currents 2Ar/CO

Fe55

Sr90
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 70/30 % for four straws of 10 cm 2Ionization current Ar/CO
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Irradiation with Sr90 source at 1400 V 

A=47.96 k=3.95 dk=0.26

A=51.04 k=4.56 dk=0.54
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Irradiation with Sr90 source at 1500 V 

A=52.45 k=4.55 dk=0.23

A=54.19 k=4.87 dk=0.62
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Irradiation with Sr90 source at 1600 V 

A=88.62 k=4.78 dk=0.16

A=91.47 k=5.11 dk=0.30
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Irradiation with Sr90 source at 1700 V 

A=60.94 k=5.25 dk=0.23

A=63.95 k=5.74 dk=0.31
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Irradiation with Fe55 source at 1700 V 

A=35.10 k=5.45 dk=0.49

A=35.90 k=5.60 dk=0.66
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Fe55 1500V for corrected currents

k=7.11 dk=2.42 n=26
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Fe55 1500V for corrected currents

k=6.70 dk=1.75 n=51
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Fe55 1500V for corrected currents

k=6.75 dk=1.69 n=53

k=8.55 dk=2.05 n=30
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Fe55 1500V for corrected currents

k=6.10 dk=1.58 n=50

k=7.66 dk=2.09 n=21
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Fe55 1600V for corrected currents

k=5.74 dk=0.74 n=49

k=7.18 dk=0.93 n=23
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Fe55 1700V for corrected currents

k=5.18 dk=0.31 n=53

k=6.33 dk=0.56 n=14
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Irradiated at 1500V with Fe55
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Irradiated at 1500V with Fe55
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Irradiated at 1500V with Fe55

p-1000 (mbar)
30 40 50 60 70 80 90 100

I (
n

A
)

6

6.5

7

7.5

8

8.5

Fe55 1500V for corrected currents

k=6.10 dk=1.58 n=50

k=7.66 dk=2.09 n=21
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